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Chap.4 Computational Complexity |

4.1. Survey on Theory of Computational Complexity
“Computable?”=>»*“How much cost is required for computation?
Computational Complexity Theory
(1) Studies on upper bound of computational cost
(2) Studies on lower bound of computational cost
(3) Structural studies on hardness of computation

(1) Studies on upper bound of computational cost
Algorithm Theory: design of efficient algorithms
Suppose we have an algorithm A which solves a problem X
In at most time T(n) for any input of size n. Then, an upper
bound on the time complexity of the algorithm A is T(n).
(asymptotic worst case time complexity)
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(2)Studies on lower bound of computational cost
If any algorithm for a problem X takes time T(n) in the worst
case, a lower bound on the time complexity of the problem X
Is T(n).
P # NP conjecture
 Robustness of crypto system

(3) Structural studies on hardness of computation
Studies to characterize hardness in the level of “xx-hardness”
hierarchical structure depending on the hardness
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A: KANIBERTOT S L > 120 if X+pc~DFEA
X1y Xoy ooy Xt AND AT > BRI TLID+Hpc~ DA

ADwhile)L—T1EIYZFDRITEATD1RATYTENS.

ABX, Xy, ooy X TR L TADMBE LT HFETIZEBWhile)L—T D
B BZEADX,, Xy, ..., X IS T HETEEFME (BELTA(X, Xy, ..., X
DEHEER) &LV, =120, FIELANEE, SHERREIXER XK.

time_A(Xy, Xp, .oy X)) = A(Xy, X, .., X, ) D ET L FERE]
time _ A(l) = max{time _ A(X,, X,,... X): > | X [=1}

1<i<k
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4.2 Measuring Computation Time

4.2.1 Revisiting Programs iry It consists of one while loop of
the Standard form »one If + substitute to pc

»0ne basic states + sub. to pc

Definition 4.1 In each line

(Computation time)
A: program with k inputs in the standard form
X1, Xpy ey X2 INPULS 10 A
Single execution of while loop in A Is “one step” In A.
The number of iterations of the while loop required before
A halts is called the computation time of A for inputs x,, X,
..., X (in short, computation time of A(X, X5, ..., X,)).
If A does not halt, its computation time is infinite.

time_A(Xy, X,, ..., X,) = computation time of A(Xy, X, ..., X;)

time _ A(l) = max{time _ A(X,, X,,... X)) > X [=1}

1<i<k
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prog 7045 S L4 (input ...);
var pc: X% s 2 Ly 2T

begin

pc:=1;

while pc #0 do
case pc of
1: (X): £ (3X) DR
g Ei; - if‘tlzﬁs*aj( then pc:=k, else pc:=k, end-if

A%, - A pei=k;

k: (30); DT A
end-case

end-while;

haltC* 2 DZEED) ;

end.



Programs in the standard form 414

prog program name (input ...);
var pc: X% X L.y X6
begin
pc.=1;
while pc 70 do
case pc of
1: (statement); Each statement must be either
2. (statement); if comparison then pc:=k, else pc:=k, end-if
3: (statement); or
........... substitution; pc:=Kk;
k: (statement);
end-case
end-while;
halt(variable of type ~*);
end.
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BEXHE R ERER TEITTES-H DR

u u: SEOLEH, v,V 2RI DT
c: B DFERL, s: 2 RIDER
(FEA3) D u:=c; (2) u:=u’;

(3) u:=head(v); (4)u:=tail(v);

(B)vi=s; (Byv==v", ??

(7) v :=right(v); (8) v := left(v);

(v =u#yv,; (10)v:=v#u;
(LEE3T) (11)u=c (12)v=s

V=V OFDOLERITEIEINTIS.
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- Constraints to execute each statement in constant time

u, u’: variable of type X, v, v’: variable of type =*
c. constant of type Z, s: constant of type X*
(Substitution)
(1) u:=c; (2) u:=u’;

(3) u:=head(v); (4)u:=tail(v);

(B) v =s; (Bp=v7; 77

(7) v :=right(v); (8) v :=left(v);

(9 Vvi=u#y; (10) v =V # u;
(Comparison)

(11)u=c (12)v=s

- comparison of the form v = v’ is forbidden
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4.2.2. Time complexity of a program

The time complexity of a program is represented as a function of
Input size (length of an input string)

Valid Encoding:
Encoding into at most constant times larger than the original.

Ex.4.5: Unary and binary representations
Binary representation is a valid encoding in the standpoint
of “size of a number Is its number of bits”, but unary one
IS redundant.
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4.3 BR LD, g IZXL,
3c,d >0, Vn [f(n)= c g(n) + d]
EIGBHEE, fIFE=F—qTHAH LW, F=0(g) £LEBRT 5.

* EHC, dIEnEEBERICEROENDE.

EEAL BABMEDEEDREKT, g, h IS LRDEFRAALIL,
(1) Vn[f(n) = g(n)] > f=0(g)

(2) Fc > 0, vn[f(n) < cg(n)] = f= 0(q)

(3) [f =0(g) »>g=0(h] > f=0(h)




7114

Definition 4.3: For functions f and g on natural numbers, if
3c,d >0, Vn [f(n)= c g(n) + d]
then we say f is in the order of g and denote it by f = O(Q).

Remark: the constants ¢ and d must be determined
Independently of n.

Theorem 4.1: The followings hold for any functions f, g and h on
natural numbers:
1. Vvn[f(n) = g(n)] = f=0(g)

2. 3c>0,yn[f(n) = cg(n)] = f=0(g)

3. [f=0(g)andg=0(h)] = f=0(h)
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EFzLL O EETEMREEL, tZBANLEDORE#ET S,

WEDOEHETEZTATSLAEES ¢, d >S0NFELT,
VI [time A() = ct(l) + d]

Hisld, olXOMRMETERIEE, HAVLNIODFMETE =L

O(t) THABHELNS.

FE CCTIHETERBEELT, E60ZEBRIBEZEELTLA.
EfMICIITRIEOI t BRI LT CEtE I ELVOERK,

CE1) A DEFEETE=E t KUELDBLNELY.
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4.2.3. Time complexity of a problem

Def.4.4. Let ® be a computing problem and t be a function over
natural numbers. If we have a program A to compute @ and some
constants ¢ and d > 0 such that

VI [time A(l) = ct(l) + d]
then we say that @ is computable in O(t) time, or time complexity
of @ is O(t).

Notice: We assume here that a computing problem is that of
recognizing a set.

Intuitively
problem @ is computable within time t
- time complexity of A may be less than t.
- there may be a faster program to compute @ than A does.
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= 5¥I B (PRIME) RE—=Y T DAR:
AB:BRE (=L, 2i#ERD) S
BRE:nXRHMN? " m(ej
PRIME ={[n]:nldx&E%}

prog Naive(inputn); 2 ~ n-1METE>THD = N
begin REA

foreachi:=1<i<ndo 2002% (2

If n mod i = 0 then reject end-if o(1°)
end-for; _ 11
accept T log n-log i B Dy Ao

MEBZEINT-N

end. \
time_ Naive(n)<»  _(clognlogi+d)
= clog n log ni+dn = O(n(log n)?)

n DEIF | &ET5HE, | 1XIXIFlog nf2hv 5, time_ Naive=0(122))
I, FHHERREORRBEGE=IL(ER) 0(122)
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Ex.4.7. Time complexity of the problem determining primes

Prime-determining problem(PRIME)
Input:a natural number n (binary representation)|  Stirling’s Formula:

Question: Is n prime? » ﬁ(g)
PRIME ={[n] :nisprime} nixvern e

EVOQ Naive(inputn);  try to divide by numbers between 2 — n-1
egin
foreachi:z=1<i<ndo

If n mod i = 0 then reject end-if -
end-for: o O(l°) time algorithm has
T log n-log i time E

accept been proposed in 2002!!
end.

time_ Naive(n)<»  _(clognlogi+d)
= clog n log nl+dn = O(n(log n)?)

When the length of nis |, | is approximately log n. So, time_Naive
=0(I22Y. Thus, time complexity of PRIME is O(122)).
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TE 4.5
BAZ EDOBRE tIZHL, BFFRETEED O1) LLLH%EE
(i.e., 72 ERE) DEAZT O@) FEFTEEI IR &L,
FDUSAETIME()ERT.
F1=, t D KO EZE Fil BB AR R &SN
F=EZIE, O(122") Bl CRRi e E R T EH =V T AN
TIME(I22YTHY, £& PRIME [TZD—EX.

PRIME € TIME(I22')

— He BB .

4 Tl PRIME € TIME (1°)
ZIEH 6
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Def.4.5.
For a function t over natural numbers, the set of all sets

(i.e. recognition problems) with time complexities O(t) is
called O(t)-time complexity class, and it is denoted by TIME(t).
And such a function t is called a time limit.

For example, a class of sets recognizable in time O(122) is
TIME(122!), and the set PRIME is one element.
PRIME € TIME(I22")

Exponential

Now, PRIME € TIME(I°)

Polynomiz
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(@ ¥n[n<t(n)]

(b) ¥ny, n, [n; <ny, 2> t(ny) <t(ny)]

(c) BEALNT=AN xIZxL, I{(X) (t(x)D1&ESFREE) %=
KOALHETED Ot) BFfEl THIRE

QDEHE: ANZHOEITT n BREMDDTLEIND.

C)DEH BRI t(n) (CHS=05EEITH YA LT B1=8
DIAI—MNREIRTESLLIIZTH1=8.
(1ERZTEZE-T, 1T 2ELLTL).
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Conditions for a function t appropriate to time limit

(Definition of) natural time limit

(@ ¥nln<tn)]

(b) 9ny, Ny [Ny <ny = t(ny) < t(ny)]

(c) Given any input x, we can compute t(Jx]) (unary representation
of t(|x|)) in O(t) time.

Condition (a): It takes n time to read input.

Condition (c): To allow us to use a timer to break computation
at time t(n).
(We decrement the unary representation).
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H4.8: £ED = {<a,b>: alZbTEIVY NI IDEHEEEE
EEDERHITSHTIOISLELT, TOTATSLEEZD.
prog D(input x);
begin
a:=get(x, 1); b:=get(x, 2);
% x=<a,b>DFTEWNESIL, O 5= Treject
If a mod b =0 then accept else reject end-if

end. T O(la||b|) B CEH & mT 8
time_D(x) = O(|x])

A ADx=<a,b>D D EZ(FO(X|P) BRI MM BH, 5T
IS EIZIEmodit E D RICrejectd 5D T, O(X|)FERITH-T
LED. ShiXBERGHIRERE D&MD) (CRT HHY,
DOREFODMEZZERT HIZIEL, FIREEMELTN2EHLY,
time_D(l) = O(I)&FF L TH 7 TH 5.
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Ex.4.8: Time complexity of a set D = {<a,b>: b divides a}.

Consider the following program to recognize the set D.
prog D(input x);
begin B B
a.=get(x, 1); b:=get(x, 2);
% if x is not in the form of <a,b>, reject immediately.

if a mod b = 0 then accept else reject end-if

end. computable in time O(|a||b|)

time_D(x) = O(|x[?)

If an input is in the form x=<a,b>, it takes O(|x|?) time.
Otherwise, we can reject it before computing mod, and thus

It terminates in time O(|x[). This contradicts to the condition
(b) of a natural time limit, but to discuss about the worst case
performance of D it suffices to evaluate it as time_D(l) = O(I?)
by using n? as the time limit.
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AF151 x > O(|x) BRI LR TH 0" 2 H 7.
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wl=x#0;y:=¢; XITANZEH, yITHHIEHK
while wl#¢€ do
wl:=right(wl); w2:=x;

while w2 Z¢ do ZDI—TT
w2:=right(w2); y:=y #0; ly| €ly[+|x|&%5
end-while
end-while;
ANDESZIETHE,

RAIOwhileJ)L—T(ZIE  (AREIBFE-YIRTVT)

5Bl Dwhile)L—T [X1+1[B

AT 2+(1+1)(3+31) =312+ 6l +5
time_sq(l) = O(1%)

13/14



Ex.4.9: Time limit n2 satisfies the condition(c). 13714

input string x =» Output 0X2 in time O(|x|2).
A basic idea is as follows: (program sq)

wl:=x#0; y:= €; X Isan input variable, y is an output variable

while wl#¢€ do
wl:=right(wl); w2:=x;

while w2 #¢ do In this loop
w2:=right(w2); y:=y #0; |y| €|y|+|X|
end-while
end-while;

Let | be the length of an input.
inner while loop is iterated | times (3 steps per iteration)
outer loop is iterated I+1 times
in total 2+(1+1)(3+3l) =3I+ 6l +5
time_sq(l) = O(19)
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TEHEA.2: BA%t, LZEE D BALHIERRET S, CDEE,
t+t, t X t,t ot, B A% HI PR BFRE.

I

EIEA.3: TR TOHIBRERRL,, t,IZ%IL,
t,=0(t,) > TIME(t,) < TIME(t, ).

aEBA -
FTARTOLT, LETIME(t,) 2 LETIME(t,)ZRE LKL,
EELY, LEZO() TRETHT0T T LANEFT.
DFY, time A =0O(t)).
t, =O(t,) =M i5,
time_A = O(t,).
2T, LOFRHEETEZEIE0(L,).
$HE, LETIME(,). IEAA#E
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Theorem 4.2 Let t,, t, be any natural time limits. Then, so are

Theorem 4.3 For any time limits t; and t,, we have
t,=0(t,) =2 TIME(t,) < TIME(t,).

Proof:
It suffices to show LETIME(t,) 2L TIME(t,) for any L.

By definition, there Is a program A recognizing L in time O(t,).
That is, time_A = O(t,).

Since t; =O(t,), we have
time_A = O(t,).

Thus, the time complexity of A is O(t,).

Therefore, LETIME(L,) . End of Proof
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